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TELECOMMUNICATION & SWITCHING NETWORKS

Praifa g : fA ) (FAftrpaw 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70
Pz () T I a8, 994 & e 9 % IR G |

Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) N F97 % G 5T F) FHAR UF T F Hird |
Solve all parts of a question consecutively together.
(iii) % ¥ F1 79 78 & IE Fford |
Start each question on fresh page.

(iv) 277 STaTan 7 I 87 #1 Rt § e e & a8 |

Only English version is valid in case of difference in both the languages.

1. (1) ®Ru-s@-wyfE=?

(a) TR (b) TR AHAH

(c) Aga (d) I HE A

Step-by-step switches is of type

(a) Electronic (b) Electro-mechanical

(¢) Manual (d) None of the above
Q) s e S THR A #

(a) wra fEfeem (b) | fefasm

(c) &Ml (d) I ST A B HIS TE

Electronic switches are of types

(a) Space division (b) Time division

(¢) Both of the above (d) None of the above
(3) o 2H g ¢t @ :

(a) icE TEHFIZAL B! (b) ITeHT eI B

(c) Qi # (d) e ofi o

Dial tone is heard by

(a) Called subscriber (b) Calling subscriber

(¢) Toboth (d) To any of the above

(10f8) P.T.O.
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I YHR h 29 TE B

(a) Ffimam (b) =

(c) T I (d) 3T g1 & T

This is not a continuous tone

(a) Ringing tone (b) Busy tone

(¢) Both of the above (d) None of the above

U HIees Fead foad N weasgad 2, # v @y frhan %iet 8 9o 2

(a) N2 (b) N/3 (¢c) N (d) 2n

In a folded network with N subscribers, there can be a maximum number of calls
(a) N2 (b) N/3 (c) N : (d 2n

@W~ﬁ—qﬁe%¢ﬂﬁﬁzﬁﬁaﬁnmﬁmi,ﬁﬁaﬂ%ﬁ$ﬁmﬂ
gt 7

- (n~-1)
(@ n ®) n(h-1) (c g(nz_l) (d) nn4

A point-to-point network with n users requires how many links ?

i -1
@ n ® no-1) @ M5 g Ho-D

908 A, H g am R

(a) Wrgae feres ¥efier Jeas

(b) WTFAeE feree Sefmmgfem Jead

(c) ufeer feres Sefimagfiibem Yeash

(d) ufeeTs fiyee Tefie Jead

Full name of PSTN is

(a) Private Switched Telephone Network

(b) Private Switched Telecommunication Network

(c) Public Switched Telecommunication Network
(d) Public Switched Telephone Network

e feafin a1 3 weeftem wiveda aifga fva o aear 2

(a) iet Srafem aur vefifefes aivedm §

(b) vehffea aur 3= giweam i

(c) it NTafE aur A== wigeaew i

(d) i Srafe, ehifrefa qor 1= aiees s

In a switching system application software may be classified as
(@) Call processing and Administrative software.

(b)  Administrative and Maintenance software.

(¢) Call processing and Maintenance software.
(d)  Call processing, Administrative & Maintenance software.
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. .. g w2

(a) HIS S A (b) T -HHfrehel TaEE A

(c) IRty Taae | ) TR -AFREA 9 RS T A
SPC is used in

(a) Manual Exchange

(b) Electro mechanical Exchange

(¢) Electronic Exchange
(d) Electro mechanical and Electronic Exchange

& NXN Yeas %1 fwaia o= @

(a) NXKaurKXN (b) KXN @41 KXN

(¢) KXK a4 NXN (d) vt |t

The two stage network representation of an NXN is

(a) NXK and KXN (b) KXN and KXN

(¢) KXK and NXN (d) All of the above

SeAHH F FTH ¥ SATHH HEAfET G e IqeTed HUA! B
(a) +24VDC (b) -24VDC

(¢) +48VDC (d) -48VDC

Telephone companies normally provide a voltage to power telephones
(a) +24VDC (b) -24VDC

(¢) +48VDC (d -48VDC

g AR FE T a8 e 8t o 1 o T AN N Hhd 8

(a) WS gL AR I L HY A Bl

(b) §H T FHaA B

(c) LEER IR i

(d) I |t B

A large number of computers in a wide Geographical area can be connected
(a) using twisted pair lines

(b) using coaxial cables

(c) using communication satellites
(d) using all of the above

UF TATHIA AZTh B
(a) uhy-ferss Feas (b) e firse Jeas
() Hi9-foree Jeas (d) ST g+t

A telephone network is
(a) Circuit-switched network  (b) Packet-switched network

(¢) Message-switched network (d) All of the above
P.T.O.
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(14) TH & 3o o yis Rren ) vgam o 2

(a) "™ gR (b) wWH.TH. wgH g

(c) 3mddtugw g (d) Fratar gro fed m Sfge 7. g

In a LAN every system is identified by

(a) Name (b) MAC Address

(c) IP address (d) Serial No. given by manufacturer
(15) =a%a ue e &ren 2

(a) Jftrepam sfea v 1 g 2w

(b) i uer F 2 e

(c) T UR HeHHTIE oI & 98

(d) feremam Hie geg= 214 F1 ey

Busy hour trafficis

(a) Maximum average simultaneous traffic.
(b) Traffic during peak hour.

(¢)  Traffic when all subscribers are engaged
(d) The duration of maximum calls.

(16) . b4, = aread 2
(a) RTEWAFA B (b) WrEIUEHgE
(c) fmfmwefafimam (4) ek sog =
SPC stands for
(a) Standard Protocol Control
(b) Stored Program Control
(¢) Signalling and Switching Centre

(d) Signalling Process Centre
(17) e fewatta Seas fomit M 3otz 3 =i a1 N 31m3ede % S &7 8, |

feafem uefiie &ft
() Mg+Nr (b) Mr+ Ng
() (M+N)(r+s) (d (M+N)rs

For two stage network the switching elements for M inlets with r blocks and N
outlets with S blocks is
(@) Mg+ Nr (b) Mr+Ng
() (M+N)(r+s) (d (M+N)rs
(18) 3reetn gfve wyar #idt &
(a) =% Hafy =) a9 A (b) F =& rafy F AT HE
(c) 3w %Te 2 o o (d) F& B HafYy zoi o
Erlang unit is used to

(a) Measure busy period. (b) Give total busy period in minutes.
(c) Measure average callrate. (d) Indicate total call period.
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s 3T wfdg Ardt s 2 |
(a) whowad (b) T H
(¢ fFrmwend (d) IoE it
The Grade of Service (GOS) in measured in
(a) Percentage (b) Number
(¢) Fractional Number (d) All of the above
T Wig-B-uTe feieh Jeash FEena @
(a) qUi-Aifora T (b) & e Jea
(c) Fiae Ao Jeash (d) T A HE A

Network with point-to-point link is known as
(a) Fully connected network (b) Half connected network
(¢) Duplex connected network (d) None of these

.. d. wgw e 2

(a) UFEES HIe BHH Bl GEAITEA HH A |
(b) TEHFTIEL Hlel G HI GEATEd H A |
(c) Uaa=s BEaaH |

(d) Tr=fem wa g |

SPC is used for

(a) carrying Exchange Control Functions

(b) carrying Subscriber Control Functions
(¢) Exchange Hardware

(d) Signalling purpose

e 2fee 1 A ST 2

(a) ¥HvEH (b) WIH c) @m#A (d) veawfafafed
Telephone traffic is measured in

(a) Seconds (b) Hours (¢) Erlang (d) Pulses per minute

w Ze Tt e fere H s A w1 S N R ) Ieeh shers #eft

(a) log,N (b) 2log,N (¢ 3log,N (d) 4 log,N

In a time division space switch the size of the control memory is N and its width
should be

(a) log,N (b) 2log,N (¢) 3log,N (d) 4log,N
@ﬂwmﬁwﬁmﬁmﬁnﬁmﬁmw@m
feafem oie Bt 2

(a) ©m feafem (b) rem feafem

(c) g feafsm @) wHAFETE

Which kind of switching technique indicates the transfer of coded values of
signal from input to output during the same interval of time ?

(a) Space switching (b) Time switching

(¢) Combination switching (d) None of the above

P.T.O.
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(25) U BIoeE THR & J¢a% |

(a) FAYE TATEH HTITYE SATEAT & FMIE Bl 1 A1l & |

(b) IHTITYE WATEH $9YE AT § AT Bles i el & |

(c) 9 gl
(d) 390§ A HIE TET
In folded type of network
(a) input lines are folded back to output lines.
(b) output lines are folded back to input lines.
(¢) Both of the above.

. (d) None of the two. f

(26) FHE Hic TG qYT Hiet FATH TGN F1 I FEATAT 2
(a) ic HEAIIH & (CCR) (b) et AT &€ (CBR)
(c) fusht s &fe@r @ (BHCR) (d) 3w0aa & & 18 781

The ratio of number of successful calls to the number of call attempts is known as
(a) Call Completion Rate (b) Call Block Rate
(c) Busy Hour Call Rate (BHCR) (d) None of the above

(27) 3 qun #. 6wy, § 999 g 2

(a) 1 3 =36 CCS (b) 1 3T = 56 CCS

(c) 1 3Wel =80 CCS (d) 13/ =96 CCS

The relation between Erlang and CCS is

(a) 1 Erlang =36 CCS (b) 1 Erlang =56 CCS

) 1 Erlang =80 CCS (d) 1 Erlang =96 CCS
(28) w frasft-frafia ergm fefasm wiu form & afm-s=m B 2

(a) FEwaEe$ias (b) fia gz Hiaw

(c) 39 GHI TWH (d) fopeft oft e &

In an input controlled time division space switch cyclic control is at

(a) Input side (b) Output side

(c) Both sides (d) Not any side

(29) U Jeaeh 1 feafem amar 2 &
(a) WRAEFAR T (b) T Y T R I A Fe B FE
(c) T (d) 390 | F H1E T
A switching capacity for a network is
(a) The number of calls in one hour,
(b)  The number of simultaneous calls supported.
(c) Bandwidth.
(d) None of the above.

(30) w ffa Frafia erem fefasm o figw 8 F=ia-a0d Bt 2
(a) fraw 3in ffq @ aee f e
(b) et f4aw qre H 7w
(c) wad ffq ages H 7w
(d) Fraw i ffa 31 4 @ freft e ) o 4
In an output controlled time division space switch control memory is at
(a) Both input and output side (b) Only input side
(¢) Only output side (d) None of the input and output sides (1x30)
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(7 of 8) 118
o wif dead # e HIRA |

Define fully connected network.

T2~ SrER yorTett # Iqeteurar w1 aitaTfya Hif |

Define availability of a dual processor system.

e arfiraifeh # wie weefiehym 2 (d. 5.3, ) F1 gfonfia Hif |
Define Call Completion Rate (C.C.R.) in Traffic Engineering. '

Hia gedrcifaat &) gfwrya Hifse |

Define Source multiplexing.

TS, U UH, 991 TH.U. 09 § %18 3 = ferfien |
Write any two difference between LAN and MAN. (2x5)

e S T i v g8 el faf S ) aE |

Explain various tones used in automatic exchange.

e fafi= gfgga st i qugmsd |

Explain different enhanced services in telecommunication. (5x2)

3 fm ) gemar @ s feta Jeas s vas @i ag &t e &, #i
TR |

Explain in a two stage network with multiple switching matrices in each stage
with suitable diagram.

2159 ile g (A.um.ams.) e =1 g |
Explain Time Slot Interchange (TSI) switch. (5x2)

feafam faren § uwfiehym aiweas &1 = faflae |

Give detail about abplication software in a switching system.
feafem firen & Hia TediifaaT Y Taed HedIi e ! THHTE |

Explain source multiplexing and destination multiplexing in switching system. (5x2)

3fera fom Y gea @ RIS Seie #58e H1 gHHTE |

Explain electronic Telephone handset with a suitable diagram.

feafem farem & faft= gl Saera 1 qusTsd |

Explain different control functions in switching system. (5x2)
P.T.O.
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7. () <rew fnfya @ fafim & g fagra +) quemd |

Explain basic concept of time division space switching.

(i) 3fua fam & g @ d.wm 3. w ) sy g |
Explain working of TST switch with suitable diagram. (5x2)

8. (i) WrehiE ufsHaT S GHHTE |
Explain Markov process.

(ii) 3 IR it wEEa ¥ ufers form efiem Jeash (.. d.w.) # awed |
Explain Public Switch Telephone Network (PSTN) with a suitable diagram.  (5x2)

9. ol @ w wftya feoaforat ferfla -
Write short note on any two :
(i) P U I (T6.Q. T, ) Y 9gifia
Utility of Local Area Network (LAN).
(i) 3renfes efie waaew & TR
Types of Automatic Telephone Exchange.

(iii) Frapa wa.f .5,

Centralized SPC. (5x2)




